



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$(4 + \frac{2}{3})^2 - \frac{1}{3} \times \frac{3}{4} - 3^2 =$$

$$(3 - \frac{1}{6})^2 - \frac{3}{2} \times 2^2 - \frac{1}{6} =$$

$$(\frac{1}{4} - \frac{1}{3})^2 + \frac{1}{3}(\frac{1}{2} + (\frac{1}{3})^2) =$$

$$(\frac{1}{3} - (\frac{2}{5})^2) \times \frac{1}{4} + (\frac{1}{4} + \frac{3}{4})^2 =$$

$$(4 + \frac{1}{4})^2 + \frac{1}{2} \times \frac{3}{4} - 3^2 =$$

$$(\frac{1}{6} + \frac{1}{6})^2 + \frac{1}{2}(\frac{1}{4} + (\frac{1}{5})^2) =$$

$$(\frac{2}{5} - \frac{1}{6})^2 + \frac{1}{2}(\frac{1}{6} - (\frac{1}{4})^2) =$$

$$(3 - \frac{3}{5})^2 + \frac{3}{2} - \frac{1}{3} \times 3^2 =$$

$$(\frac{1}{2} + \frac{1}{6})^2 + \frac{1}{4}(\frac{1}{3} - \frac{1}{2}) =$$

$$(\frac{1}{2} - \frac{1}{4})^2 - \frac{1}{2}(\frac{1}{2} + (\frac{3}{5})^2) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$(4 + \frac{2}{3})^2 - \frac{1}{3} \times \frac{3}{4} - 3^2 = \frac{451}{36} = 12\frac{19}{36}$$

$$(3 - \frac{1}{6})^2 - \frac{3}{2} \times 2^2 - \frac{1}{6} = \frac{67}{36} = 1\frac{31}{36}$$

$$(\frac{1}{4} - \frac{1}{3})^2 + \frac{1}{3}(\frac{1}{2} + (\frac{1}{3})^2) = \frac{91}{432}$$

$$(\frac{1}{3} - (\frac{2}{5})^2) \times \frac{1}{4} + (\frac{1}{4} + \frac{3}{4})^2 = \frac{313}{300} = 1\frac{13}{300}$$

$$(4 + \frac{1}{4})^2 + \frac{1}{2} \times \frac{3}{4} - 3^2 = \frac{151}{16} = 9\frac{7}{16}$$

$$(\frac{1}{6} + \frac{1}{6})^2 + \frac{1}{2}(\frac{1}{4} + (\frac{1}{5})^2) = \frac{461}{1800}$$

$$(\frac{2}{5} - \frac{1}{6})^2 + \frac{1}{2}(\frac{1}{6} - (\frac{1}{4})^2) = \frac{767}{7200}$$

$$(3 - \frac{3}{5})^2 + \frac{3}{2} - \frac{1}{3} \times 3^2 = \frac{213}{50} = 4\frac{13}{50}$$

$$(\frac{1}{2} + \frac{1}{6})^2 + \frac{1}{4}(\frac{1}{3} - \frac{1}{2}) = \frac{29}{72}$$

$$(\frac{1}{2} - \frac{1}{4})^2 - \frac{1}{2}(\frac{1}{2} + (\frac{3}{5})^2) = (-\frac{147}{400})$$